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QUESTION 1

Organizations can deploy off-the-shelf, virtualized application on some HP infrastructure devices. Which devices support
this capability? (Select two ) 

A. HP MSR3000 Routers 

B. HP HSR6800 Routers 

C. HP 7500 Switches 

D. HP 11900 Switches 

E. HP 5400 zl Switches 

Correct Answer: AE 

 

QUESTION 2

A network architect is choosing core switches for an enterprise data center. One potential model has a CLOS hardware
architecture, and the other model has a cross-bar architecture. Which customer requirement would cause the network
architect to select switches with CLOS architecture? 

A. The customer has a multi-tenant data center, which needs to use Virtual Routing and Forwarding (VRF) to segment
the network 

B. The customer needs a highly-available core, which is best delivered with Intelligent Resilient Framework (IRF) 

C. The customer has relatively small data center and does not have the budget to invest in high performance 

D. The customer is planning to scale bandwidth up to 40G/100G in the next several years 

Correct Answer: B 

 

QUESTION 3

A network architect is compiling information about the total cost ownership (TCO) for a proposal. Which factors play a
role in TCO? 

A. Cost of remediation due to a future security breach 

B. Cost of regulatory fines associated with non-compliance 

C. Cost of upgrading modules for the proposal 

D. Cost of powering the solution 

Correct Answer: D 
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QUESTION 4

Refer to the exhibit. 

The exhibit shows how two NICs on a physical server connect to two HP 5820 switches. The server supports eight
virtual machines (VMs) with VMware version 5.1. The VMware standard virtual switch is bound to NIC and NIC2. This
switch implements source MAC load balancing for the NIC team. 

What is the proper configuration for ports 1/0/1 and 2/0/1? 

A. Place the ports in a bridge aggregation group that does not use LACP 

B. Place the ports in a bridge aggregation group that uses LACP 

C. Enable LACP on the individual ports 

D. Do not place the ports in a bridge aggregation group 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 
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The exhibit shows the topology for a network with 30 access layer switches (only two are shown). Every switch-to-switch
link is a Gigabit link. Every virtual local area network (VLAN) interface runs Open Shortest Path First (OSPF) and has 

the IP address shows in the exhibit. The interface settings are at the defaults. 

The access layer switches support more VLANs not shown in the exhibit and also run Multiple Spanning Tree Protocol
(MSTP) as a protection against loops. 

What is one recommendation for enhancing convergence time and resiliency for this solution? 

A. Add a BPDU filter to the VLAN interfaces shown in the exhibit 

B. Lower the cost of the VLAN interfaces to reflect the high speed of the links 

C. Place all the switch-to-switch links in the same VLAN 

D. Raise the OSPF timers on the VLAN interfaces 

Correct Answer: A 
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